








½



Section 1: Multiplication

7 x 9 = = 1 x 9

9 x 3 = = 9 x 12

6 x 9 = = 2 x 9

8 x 9 = 4 x 9 =

Section 2: Division/Inverse

36 ÷ 9 = 63 ÷ 9 = 

81 ÷ 9 = 9 ÷ 9 =

18 ÷ 9 = 99 ÷ 9 =

45 ÷ 9 = 72 ÷ 9 =

Section 3: Fractions

= 2 ÷ 1/9 1 ÷ 1/9 =

72 x 1/9 = 1/9 x 18 =

=9 ÷ 1/9 = 1/9 x 45

Section 4: Word Problems

There are 8 rows of cars with 9 cars in each row. 
How many cars are there? 

If there are 81 cars with 9 in each row, how many 
rows of cars are there?  
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https://www.bbc.co.uk/bitesize/articles/z6ghscw
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